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Objective & Concrete Pictorial Abstract
Strategy
Division as sharing Children use pictures or shapes to share quanti- .
g 12 shared between 3 is
s Gorton 7 & $ BP 8
s for
modelling
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8 Shareu pewween 215 4
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12 shared betwean 3 15 4

1 have 10 cubes, can you share them equally in
2 groups?
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counters to aid understanding.
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12+ 3=4

Think of wime war as @ wiues. spu i the num-
ber of groups you are dividing by and work out
how many would be within each group.

20

20+ 5«2
Sx7=20

Objective & Concrete Pictorial Abstract
Strategy
Division as sharing Children use pictures or shapes to share quanti- T
o 12:3=4
Children use bar modelling to show and support
understanding.
| have 10 cubes, can you share them equally in
2 groups?
000 000 000 o000
12+-4=3
Division as grouping | Divide quantities into equal groups. Use number lines for grouping 28=7=4
Use cubes, counters, objects or place value /\M/\

Divide 28 into 7 groups. How many are in

each group?
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Ohjective &

Strategy

Concrete

Pictorial

Abstract

Driwvision as grouping

Use cubes, counters, objects or place value
counters to aid understanding.

24 divided into groups of 6 =4

896 + 3 =32

Confinue to use bar modelling to aid solving
division problems.

20

How many groups of 6 in
247

24+-6=4

Diivision with arrays

Link division to multiplication by creating an
array and thinking about the number sentenc-
&5 that can be created.

Egl5=3=53 35x3=15

15+5=3 FJx35=15

Draw an array and use lines to split the array
into groups to make multiplication and division
sentences

.....
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Find the inverse of multiplication and division
sentences by creating eight linking number
SEMtences.

Txd=2E
4x7=2E
2E=T7=4
2E=4=7
2E=T7x4
2E=4x7
4=28=7

T=28<+4
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Objective & Concrete Pictorial Abstract
Strategy
Chivision with remain- |14+ 3= Jump forward in equal jurmps on a number line | Complete written divisions and show the re-
ders. then see how many more you need to jumpte | Mainder using r.
Divide objects between groups and find 3 remainder.
see how much is left over 29 + 8 =5 REMAINDER 5
T 1T 1 T

-

//_\ dividorsd  divisar quotignl L SR gt [
=% &8 &8 L
h Draw dots and group them to divide an amouwnt

* and clearly show a remainder.

- OO

Use bar models to show division with remain-
ders.

3

Example without remainder

40 +5 +5+5+5+5+5+5+ = fives
Azk “How many 55 in 407

O 5 10 15 20 25 30 35 40

Example with remaindar;
IE+B
+G+6+G+6+6+ = § sizes with a rermainder of 2

0 6 12 18 24 30 36 348

Fod Iarg-Er numibers, when i becomeés melhicienl 19 count 1n 5||'|gle mulliple s, hlgger
jumps can be recorded usng known facts
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Use place value counters to divide using the
bus stop method alongside

EDOE e
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42 = 3=

start with the biggest place value, we are
sharing 40 into three groups. We @&n put 1
ten in each group and we have 1 ten left over.

6 0

)
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We exchange this ten for ten ones and then

share the ones equally among the groups.

)

(O]

we look how much in 1 group so the answer
i514.

OON\OC/NOO

Encourage them to move towards counting in
miultiples to divide more efficiently.

Objective & Concrete Pictorial Abstract
Strategy
Divide at least 3 digit |96=3 Ters I pits Students can continue to use drawn diagrams Begin with divisions that divide equally with
numbers by 1 digit. with daots or circles to help them divide numbers |Ne remainder.
K] 2 into equal groups.
2 1 8
N ee0 ee 3
ivision — — —
3 DEE e //' \
©e0 ee OO\OOYOO 4|8 7 2

Move onto divisions with a remainder.

8 6 r 2
3
54 3 2

Finally mowve into decimal places to divide the
total acourately.
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Long Division

Step 1—a remainder in the ones

hto
041RA1

4) 165

4 does not go into 1 (hundred). So combine the 1 hundred with the 6 tens (160).

4 goes into 16 four times

4 goes into 5 once, leaving a remainder of 1.

thht o

D400R7
8)3207

g does not go info 3 of the thousands. 5o combine the 3 thousands with the 2 hundreds (3,200).

g goes into 32 four times (3,200 - & = 400)
& goes into 0 zero times (tens).
8 goes into 7 zero imes. and leaves a remainder of 7.
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Long Division

Step 1 continued...

hto

061

4) 247
—4
3
When dividing the ones, 4 goes into 7 one time Multiply 1 = 4 = 4, write that four under the 7, and subract. This finds
us the remainder of 3.

Check: 4 = 61+ 3 =247

th h t o

0402
4) 1608
-8

1

Viihen dividing the ones, 4 goas info Y two times. Multiply 2 x 4 = B, write that eight under the %, and subract. This
finds us the remainder of 1

Check: 4 = 402 + 1 = 1,608
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Long Division

Step 2—a remainder in the tens

Two goes into 5 two times, or 5 tens

= 2 =2 whaole tens — but there is a
remainderl

To find it, multiply 2 = 2 = 4, write that
4 under the five, and subtract to find
the remainder of 1 ten.

1. Divide. 2. Multiply & subtract. 3. Drop down the next digit.
1 o i o t o
2 2 29
258 258 2)58
-4 -4
1 18

Maxt, drop down the & of the ones
next to the leftover 1 ten. You
combing the remainder ten with &
ones, and get 15

Divide 2 into 18. Place 9 into the
quotient.

Multiply 9 = 2 = 18, wnie that 18
under the 18 and subtract.

1. Divide. 2. Multiply & subftract. 3. Drop down the next digit.
I o i o I o
29 29 29
2)58 2;58 2758

-4 -4 -4

18 18 18
-18 -18
0 0

The division is over since theare are
no more digits in the dwvidend. The

nquotient is 29.
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Long Division

Step 2—a remainder in any of the place values

1. Divide. 2. W Itiply & subtract . Drog down the next digit.
hto hto hto
1 1 18
2RTE 2IETa 21218
= -d
0 oE

Two goee Inte 2 one Ime, or 2
rundreds - 2 = 1 hundnad

Muttiply 1 =2 = I, writs thal 2 under
the two, end subfract io find the
remainder of zern

Mext, diop down the 7 of the tene
next fo the zern

Divice. Multiply & subdract. Dirop down the next digit.
hta hto hteo
13 13 13
212718 2)278 2)278
-2 -2 -2

av a7 o7
=5 - 8

1 18

Divide 2 inte 7. Place 3 info tha
quotent.

Mutiply 3 = 2 =&, write that & undar
the 7. &nd subtrect to find the
remander of 1 ken

Mext, drop down the B of the ones
next o e 1 leftower tsn.

1. Divide. 2. Multiply & sulbiract. 3. Drop doswn the next dig)it.
hiao hto hto
138 135 133
21278 2V2T8 212743
-2 -2 s
ay ar oT
- B -6 -6
18 18 18
-18 -18
] (F]

Divide 2 inte 13, Place 3 inlo the
cuobient

Multiphy § = 2 = 18 wmie that 15
under the 13, and eubtract o ind the
remsinder of Zern.

There ara ne mong digike to drop
dowmn. The guobent 18 138




